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-General Instructions.

4 z. This question paper comprises of four sections — Section-A, Section-B,

Section-C and SectionfD. You are to attempt all the sections.

2. All questions are compulsory, , ,
| 3 Allquestzons of Section-4, Section-B,‘ Section-C and Section-D are to be

- attempted separately. o | , ‘ |

4. Question number | and 2 in:Section'4 is one mark question. These are to be |
answered in one word or one sentence. - . |

3. Question numbers 3 1o 3 in Section B are two mark questions. These are to
be answered in about 30 words each, Whereas question numbers 6 to 11 in
Section B are based on practical skills. These carry two marks each.

6. Question numbers 12 to 16 of Section C are three mark questions. These are

o be answered in about 50 words each, |

7. Question numbers 17 to 19 of Section D are Jive mark questions. These are
to be answered in about 70 words each, | | | e
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| /\,\\‘ | SECTION-A . P=%- P2z
MM) ‘W and 40' W lamps, which one has a higher electricWe

—" when in use? p | | | [1]
. Wt is the role of decomposers in the ecosystem? [5 / | [1]
SECTION - B

% electrical bulb is rated as’50W, 220 V. Calculatg the energy consumed
by the bulb in 20 minutes.|\Express your answey'n/:onnnercial unit of

electric energy. P D ez / I'f’%z;% — 1~ [2]

Mhat is electromagnetic induction?v p 12]

5. “Burning fossil fuels is a cause of global warmmg”ﬂy this statement: }[2]
/B P/ 9 s losege acilic T%b]am

(What is geothermal energy?

X
' F or the same angle of incidence in media, P, Q and R, the angles of
fraction are 45° 35 ° and espectively. In which medium will the
refrac ,

velocity of light be minimum: Give reason for your answer. P 2]
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" A solution of potassium chloride when mixed with silver nitrate solutior, .,
insoluble white prempltate is formed. Write balanced chemical ,quxmm

1nv01ved and also mention the type of the reagtion. (| J ,s.,,

9, ~Write the electronic configuration of element X and element Y mth atomic
number 20 and 17 respectively. Write the molecular formula of the
compound formed when element X reacts vye‘k:ment Y. Draw the electron

‘ dot structure of the product formed. (- X+ —=2 K 2 / 2]
- 10Diagrammatically explain the process of nutrition in Amoeba. (2 (2]

}/Which@cretes a hormone when blood sugar rises in our bodyéﬁ-
[2]

the IE_n’r}Q_@_and name one enzyme released by this organ.
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‘The image of a candle flame placed at a distance of 40 cm from a spherical
lens is formed on a screen placed on the other side of the lens at 2 distance '
of 40 cm from the lens. Identify the type of lens Wa its focal len_oth. / =
What will be the nature of the image formed if the capdle flame is shift

cm towards the lens? Draw a ray diagram to justify, ( P /ﬁ 5]

y{What is meant by the term pmm,@ﬂd_a@& of human eye? How
does it help a person to see nearby as well as distant objects? 131
14,9 Explain how me;rcys extracted from cinnakb:r, give equation for the
reactiop. [~ _ Qg5 ¥3O; "H-goi?;cio 2
ame the method used for refining of iripure copper. What would you

take as a\_@/ cathode and' e@:_tg;l}agm this reaction? (¢ Blectvp Iy 1 Pl
Ny (u Sox sol yr=ea
) \“}bmtu" ?L&-ﬁ CL{ &C u_,iﬁ

w does the electronic configuration of an atom relates the position in

15.1)
((?:Ijlodem periodic table. /

5 all elements of same group have similar properties? (_ /

HaC - LD o

does the tendency of element}g:un electron change as we move

. ?
left to right ina penod
o E/“'C‘/—v MULtas 6

m are fOSJ(fongq De/s'cu %‘ brief; two methods of determining the

of fossils: (3]

(3]
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SECTION - D

r b
y,){pel:son’s image when seen .through a stream of hot air arising above o hot Sy
a fire dlsperses to waver. Explain. P Qoo Yo Chencg- IR ' [5]

}Q’ljeﬁne dis ow does a m ight? ) o P
)ﬁhlch color of llght bends th)g)st.an& e leag

\IIOLQ_.['

| 8.1 The molecular formula of 2 carbon compound are C4H3 and C;H;. Which
one of the two is most likely to show addition reaction? Justify your answer,
also give chemical equatlon to e ymﬁa process of addition reaction in theb

case.
m the mechamsm of cleansmg action of soag / [5)

P

19.a) Draw a dlagram of human female reproductwe system and label the

parts. - /
/L)/tﬁat produces egg

OV
ere fus10n of egg and sperm take place ({9 >

111) here zygote is nnplanted ovidu J
birth canal \[\ % Yl o

b) What happens to human égg‘w.hen it is not fertilized? : | [5]

ok ok ok ok ok
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